Semaine 2 : Factorise

ren

utili

sant les p

rodu

1its remat

rquables

1

164> — 25y = [4 e -

=79 )( 4o

4

)

£

9%

L

99 - P/

x2 yz Had //}; - ‘;\ (9._ UJ\\
s TR R IFAE )
' < 3 3\t
...... M9. e a_" g ’,L e “L :( Ao % )
5 (@a-1)2%-1 = (a.-4 _.-4)(& -4..54)
= %m[& - ,)
7 N2
6. at—2a2+1 = g",ft} ‘
e .
;:(G\-/\‘ (o\.+4j
7-—81at--=169 = (WQL‘-'%)(.}‘L*"',))
) L AT PR W 1h T2 PRI L2 |
L \ z "/(’ e o/
| :'(5'4*—-;)({’4\2*3)
» | L ¥
9. 25%/5yz(2[§y3 15 - 4 (TL_&__):- rf_,. s (CL__ ,.)]
Lo (b )]




X | Wit
o
{
<
-
,( .........
Y -
N :
A %Y L it
+ N
< 2 o
~ lu N
N L e Bl e + ol d
)
+ \/ —-‘.J,. ﬂﬁr/ m \,I 1
o s ~— ~ + $S
R port SRR : T ool N, (S €
. P
i g e NG P Y & i
e =t g e \ ~ -+ bR
Py ~ B W o ' ~
~J ,. % - o 7 '.W " i i ,/\~ g M J= A’ %
— o~ /l.\ . £ t m A & -4 -+ -
bk b Ty o \/l.\ 3 ot \ | \M 8] \ p)
N -  § Y Lo z
1 i . o \/M i s o i PRI
o o ¢ o W i - «
a \ mvl \ ' E 3 e\
R b & O 7_ ( o o R | et ™ J
t _ ]
p S R N va : t i rm
J 0 = S o | EN i
SIS 10 W ti | ZY = _ <H | /7_
=i A 2 ﬂv_ll <H ﬂna/ _ zy_nu/ et
B e ot . i |l S| - o + X 5 i B B
o~ Lol <H n...v/_A <f y; (a9 N =
SR % N S s 3 = A _
\\. 3 o ...;)U AL T e e e g T el I /0. i r71. 8.
Ll i — =l 1 ~ — =l =i




